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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 588 73.55 | =LY | 000 ~ 0.00)] 1.62 8.20 ZznLst 1.00 | 5.00 ~ 6.90 73.66 | EnRS | .00 ~ 6.90 | 1.62 8.20
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.59 83.11 | =hst | 0oo ~ 000|172 8.72 znLst 1.00 | 5.00 ~ 7.90 83.11 | #nst | 6.00 ~ 7.90)1.72 8.72
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ b5.56 69.38 | =Sy | 000 ~ 0.00] 1.63 8.25 znLst 1.00 | 5.00 ~ 6.30 69.38 | =nLS | 6,00 ~ 6.30 | 1.63 8.25
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 0.00 ~ 6.31 79.38 | =Sy | 000 ~ 000|171 8.65 znLst 1.00 | 5.00 ~ 7.40 79.38 | #nRS | 5.00 ~ 740 | 1.71 8.65
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.44 81.04 | =hds | 000 ~ 000|174 8.78 znLst 1.00 | 5.00 ~ 7.60 81.04 | =N | 5.00 ~ 760|174 8.78
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 |1 0.00 ~ 6.10 76.45 | =LY | 000 ~ 000|177 8.94 ZznLst 1.00 | 5.00 ~ 7.00 76.45 | EnRS | 500 ~ 700|177 8.94
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 5675 71.94 | =nLSY | 000 ~ 575|1.81 915 znLst 1.00 | 5.00 ~ 6.50 71.94 | FnRS | 5.00 ~ 6.50 | 1.81 915
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 4.75 59.22 | =hst | 0oo ~ 000|167 8.46 ZznLst 1.00 | 5.00 ~ 5.00 59.22 | =N | 5,00 ~ 5.00)| 1.67 8.46
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImERZ D ~
Zh LS ~ ZhLst ~ Zh S ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZhLS ~ ZhnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZhLS ~ ZhnLst ~ ZhLS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZhLS ~ ZhnLst ~ ZhLS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
ZzhLst ~ s ~ ZzhLst ~ s ~
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